
Q1
mpsa18

Q3
mpsa18

Q4
BC546B

Q6
BC546B

R1
22k

R3
220

R4
22

R5
22

R7
68

Q7
2n5401

Q8
2n5401

Q9
2n5401

Q11
2n5551

Q13
2n5551

R8
680

R9
680

R10
150

R12
150

R2
47k

R6
47k

C1

100p

C3

330p

C4

330p

R11
22k

R13
10

R14

2k

C5

10µ

R15
499

R16

22k

C6

22p

R18

22

R20

22

C2

.1µ

C8

.1µ

Q2
mje15030c

Q5
qmj21194

Q10
qmj21194

Q12
mje15031c

Q14
qmj21195

Q15
qmj21195

Q16
mje15030c

R17
2k

R19
470

R21
1

R22

22

R23

22

R24

1.2

R25

1.2

R26

1.2

R27

1.2

R28
.22

R29
.22

R30
.22

R31
.22

R32
33

C7

.1µ

R33
4.7

R34
8

R35

10

L1

1µ

C9

100p

C10

100µ

C11

100µ

C12

47n

V1

40

V2

40

R36
100k

V3

SINE(0 {sqrt(.25)} {freq})

V4

AC 1

C13

.1µ

C14

.1µ

C15

1000µ

C16

1000µ

V5

-46m

V6

45.41m

C17

470µ

vout

a

vin

.tran 0 {simtime} {dlytime} {numsampl}

.include dadomodels.txt

.include bjt_models.txt

.options plotwinsize=0

.options numdgt=8

.param Freq=1k

.param numcyc=10

.param dlycyc=1

.param FFT=4096

.param simtime=(dlycyc+numcyc)/Freq

.param dlytime=dlycyc/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)

.four {Freq} V(Vin) V(Vout)

;ac oct 100 1 100meg
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